P

0 54 48148

&
A EREIRTE| S FE (28R | & 1 |22 |51 AZEH B REE| A g _
o o g 1= E A | FH E;ﬂ**& & = gi%ﬁ H M| BREERER chFﬁﬁl W mER| & K MR
A B B/A c D c/D E A K M| & [C/D+G 5 E°4
oh &1 27 85 33 3.1 51 27 1.9 0 4 27 1.9 27 14 13
B & K 3 5 2 1.7 3 3 1.0 0 3 3 1.0 3 2 1
= Hh d2 4% HE S 7 25 10 3.6 15 7 2.1 0 3 7 2.1 7 3 4
B BT HEA B 2 60 198 9 3.3 165 60 2.8 1 18 59 1 2.7 60 40 20
= & &t 97 313 54 3.2 234 97 2.4 1 28 96 1 2.4 97 59 38
HE A 6 73 12.2 73 8 9.1 0 1 8 9.1 8 8
#H B B 13 54 28 4.2 26 15 1.7 0 2 15 1.7 15 5 10
= o R = AR 2 11 7 5.5 4 2 2.0 0 1 2 2.0 2 2
A 44 768 17.5 545 86 6.3 39 5 47 6.3 47 24 23
FhESEA 3 3 1 3.0 0 1 3.0 1 1
E S 2 F &t 65 909 35 | 14.0 651 112 5.8 39 9 73 5.8 73 29 44
3 H B A 4 14 3.5 14 5 2.8 0 1 5 2.8 5 1 4
& P #E B 6 12 3 2.0 9 7 1.3 0 1 7 1.3 7 3 4
;“";E = KRS 2 3 1.5 3 2 1.5 0 1 2 1.5 2 2
A 38 505 13.3 374 70 5.3 33 3 37 1 1 5.3 38 24 14
FESNEA 1 1 1 1.0 0 1 1.0
% &t 50 535 3] 10.7 401 85 4.7 33 6 52 1 1 4.7 52 28 24
B 115 | 1, 444 38| 12.6 [ 1,052 197 5.3 72 15 125 1 1 5.3 125 57 68
HE A 10 43 2 4.3 40 11 3.6 0 11 3.6 11 3 8
#HE B 40 103 2.6 103 40 2.6 0 8 40 2.6 40 22 18
= KIER 5 14 2.8 14 5 2.8 0 3 5 2.8 5 5
L A1 B2 140 562 1 4.0 495 160 3.1 6 30 154 3.1 154 81 73
z #HAE(E2—R) 25 298 115 29 4.0 5 7 24 4.0 24 14 10
R #HAE Ma—2R) 25 317 139 34 4.1 10 9 24 4.1 24 19 5
BHBRGETA N 20 20 2 2 18 18 12 6
®E B R 70 615 8.8 254 83 3.1 17 18 66 3.1 66 45 21
FESNEA 3 3 3 1.0 0 3 1.0 2 2
= & =t 265 | 1,340 3 5.1 909 302 3.0 23 59 279 3.0 278 151 127
HE A 5 17 3.4 17 5 3.4 0 2 5 3.4 5 5
= KRS 5 2 0.4 2 2 1.0 0 1 2 1.0 2 2
. R 42 126 3.0 119 47 2.5 2 10 45 2.5 45 5 40
s P ®mAABEFE 12 90 1 7.5 41 12 3.4 0 1 12 3.4 12 3 9
RE - SE 3 3 2 1.5 0 2 1.5 2 2
Fh TS E A 1 1
% &t 64 239 1 3.7 183 68 2.7 2 14 66 2.7 66 8 58
HE A 10 23 3 2.3 20 10 2.0 0 2 10 2.0 10 2 8
A = KRS 3 4 1.3 4 3 1.3 0 3 3 1.3 3 1 2
fi Bfea e RS 49 175 3.6 169 54 3.1 1 19 53 3.1 53 28 25
= ey ?4 ®mBIE 8 117 14.6 41 8 5.1 0 1 8 5.1 8 5 3
e RE - S E 1 1 1 1.0 0 1 1.0 1 1
=B FhESFEA 1 1 1 1.0 1 1.0
% &t 70 321 3 4.6 236 77 3.1 2 25 75 3.1 75 37 38
HE A 6 34 9 5.7 25 6 4.2 0 2 6 4.2 6 1 5
= RIEs 3 12 4.0 12 3 4.0 0 3 3 4.0 3 3
"I B 2 45 98 1 2.2 94 51 1.8 1 8 50 1.8 50 10 40
K‘%‘I;ﬁ ®mBEIE 12 91 7.6 26 12 2.2 2 1 10 2.2 10 1 9
RE - S E 2 3 1.5 3 3 1.0 2 1 1.0 1 1
FESNEA 3 2 0.7 2 2 1.0 0 2 1.0 2 1 1
% &t 71 240 10 3.4 162 77 2.1 5 14 72 2.1 72 13 59
= BT HA B 52 136 399 1 2.9 382 152 2.5 4 37 148 2.5 148 43 105
& ®“ABIE 32 298 1 9.3 108 32 3.4 2 3 30 3.4 30 9 21
& Z E &t 205 800 14 3.9 581 222 2.6 9 53 213 2.6 213 58 155
#H B B 4 21 5.3 21 4 5.3 0 4 5.3 4 4
AT BT (R 16 20 17 4 4.3 0 2 4 4.3 4 2 2
. FIHIRE (NSO 47 44 12 3.7 1 11 3.7 11 4 7
Ef}%f% GUECESE 16 67 4. 61 16 3.8 1 2 15 3.8 15 6 9
= %l ®“AABEEE 10 52 5. 20 11 1.8 0 1 11 1.8 11 3 8
JwmE - SE
FhESNE A
2 F &t 30 140 4.7 102 31 3.3 1 3 30 3.3 30 9 21
#HE B 4 13 3.3 13 4 3.3 0 1 4 3.3 4 2 2
= ES AT A2 16 40 2.5 33 16 2.1 1 3 15 2.1 15 5 10
= 1/~ =Yay #® AR 10 65 6.5 40 11 3.6 0 3 11 3.6 11 4 7
it THC | RE - 5E
T = LAY -T.Y-PN
= = F &t 30 118 3.9 86 31 2.8 1 7 30 2.8 30 11 19
&b ) 4 35 8.8 35 4 8.8 0 4 8.8 4 2 2
R 24 112 4.7 105 24 4.4 2 3 22 2 4.0 24 10 14
®ABEE (ER) 12 30 16 2 8.0 1 1 8.0 1 1
E%iﬂf HEMBE (NAX) 78 43 12 3.6 1 11 3.6 11 2 9
s %l ®mBEIE 12 108 9.0 59 14 4.2 2 12 4.2 12 2 10
RE - S E 1 1 1 1.0 0 1 1.0
FESNE A
% &t 40 256 6.4 200 43 4.7 4 3 39 2 4.4 40 14 26
= BIEA B 2 56 219 3.9 199 56 3.6 4 8 52 2 3.4 54 21 33
& “EBaE 32 225 7.0 119 36 3.3 2 4 34 3.3 34 9 25
& % # &t 100 514 5.1 388 105 3.7 6 13 99 2 3.6 100 34 66
HOm B 55 124 2.3 124 55 2.3 0 12 55 2.3 55 55
B = KRS 5 25 5.0 25 5 5.0 0 4 5 5.0 5 1 4
= BiEA B 32 60 125 2.1 64 61 1.0 0 23 61 1.0 61 2 59
Ll = & Et 120 274 2.3 213 121 1.8 0 39 121 1.8 121 3 118
= IR 1 1 1.0 1 1 1.0 0 1 1.0 1 1
e = KIER 2 3 1.5 3 2 1.5 0 2 1.5 2 1 1
#h BB 40 276 6.9 146 53 2.8 15 15 38 1 3 2.6 41 22 19
Z FAESE A i i
& ¥ B &t 43 281 6.5 151 56 2.7 15 15 41 1 3 2.6 44 24 20
_ #H B B 27 50 1.9 50 28 1.8 0 4 28 1.8 28 21 7
;4;>§ = RIEs 3 4 1.3 4 2 2.0 0 1 2 2.0 2 2
& % "I B2 50 134 2.7 107 52 2.1 2 19 50 2.1 50 35 15
= & &t 80 188 2.4 161 82 2.0 2 24 80 2.0 80 58 22
HE 7 262 810 97 3.1 711 266 2.7 0 63 266 2.7 266 87 179
~ o+ RS 502 | 1,637 11 3.3 1,412 541 2.6 17| 135 524 3 2.6 527 222 305
= B ®mBIE 174 | 1,414 1 8.1 627 204 3.1 36 40 168 1 3 3.0 171 85 86
b A2 82 | 1,273 15.5 919 156 5.9 72 8 84 1 1 5.9 85 48 37
wE - SE 2 8 4.0 8 7 1.1 2 5 1.1 4 1 3
FhE SN E AN 3 12 4.0 12 8 1.5 1 7 1.5 5 1 4
—hEBIRE 1,020 | 5,134 109 5.0 (3,669 | 1,167 3.1 125 | 246 1042 2 7 3.1 [ 1,049 442 607
#w & &t 1,025 | 5,154 109 5.0 | 3,689 [ 1,182 3.1 128 | 246 1054 2 7 3.1 ] 1,058 444 614

GE)




